
���������
	�� �����

 �����
� �

� ������������������������ "!$#%�&�('��)�+*-,.�"��/-�������

0 *&��12�%�����"��,.�� 0  312�%�.*4�45�����12�+*2��6"�� "7 ��6"8912 "�� "�:#%;( "7
#%�<�� "�" "7 =� ����

>@?BA:?DC%EGF�HJIJKLENM
O%PRQTSUPWVXQTSDYBZ\[]PRQ_^a`GbWcBQTdRVXe_fBfBgLZ\dXe_hUfBYBijeTQTSDYBZk^UfBYBVXeTcBQ_YjdXeTd�YjlLmBnomqprmtsubT^DlNbaf�b

v
PRQTQ_YjwGx�O%PRQTSDVybUx
z]{X|W{R{X|yx~}]��bWw%subT^DlNbafjQTSDbWwGx�|
���D�q� �B�R�_�_�J� �U���]� m �q�

���q�B�X�B�t�j�o�U���]�X���j���D���D�X�R�k T¡
v¢bWQTQTlNbWdXcDYBVybWeTdXQtw�`jVRYj£�e_fBYjeLl¤e_hUbafBYBijeTQTSUPWZ¥Q_YjQTdXeTl¢g¦xRQTPRQTdXPawD§�e_Z�Yj¨©[TbafjdXe_ªje_VRYD`jfjPW[]P«dRVXeTcX`�PW[]PJdXe_ª�brYolNbWdXe_�

cDY�baªB¬RfjPWZ­dXPWijSDY®xW¯jeTcBeTl¤eT§°bW±J§�e_ZjQtw�VW`�PWªB¬�fje_VXeTQTPRl¤PW[]P¥dXcBPRQ]bUxySUPWfB²Bg³SUPRdXPRcBPW[]P�¨]bWSBcBe_¯Bªje_fBg"f�b¦SUPWfB²�bahodRVXeTcX`�PW[]P
dXe_ª�bUx�V%²je_fjdXcjbaªB¬RfjPRl:fB¬X±JdXPWfjPWVXQTSUPRl´Q_YBªjPWVXPRl³¯jPWªjeRm®µ¢bWSDbWw\Q_YjQTdXeTlNbkl¤Pa£�eTd\¶Wg·dR¬%f�bW¨_Vybaf�b­Q_YjQTdXeTl¤PWZ�Q°ªjeTeTcDfjPWZ
Q_VXwD¨_¬X±°mD¸&¯jcBet`j¯jPWªjPa£�e_fBYBY®xXijdXP¦²je_fjdXc�lNbWQTQ«Q_YjQTdXeTl¢g"`jVRYj£�eTdXQtwo¯jP°SBcD^U[]PWVXPWZ­PRcB¶WYjdXeRxUlNbWQTQ]b°lNbWdXeTcDY�baªB¬RfjPWZ­dXPWiB�
SDY�lNbaª�bJ¯jP«QTcjbaVRfje_fBYj±³Q·lNbWQTQTPWZ�[TbafjdXe_ªBY®xa`jªBYBf�brdXcBPRQ]bJlNbaª�bJ¯jP¦QTcjbaVRfje_fBYj±:Q·cjb]`jYB^yQTPRl�PRcB¶WYjdRg&YoVXQTeu`jVRYj£�e_fBYjw
¯jcBPWYjQqhyPT`�wDd%V¹¯BªjPRQTSUPRQTdRY&PRcB¶WYjdRg¦º
Yj¨_^Ui�bWeTdXQtw�VRªBYjwUfBYje¥`jVRYj£�e_fBYjw2lNbWdXeTcDY�baªB¬RfjPWZ&dXPWijSDY�f�b%VXcjbW§�e_fBYje­[TbafjdXe_ªBY
VXPRSBcD^U[ �T� ²je_fjdXcjb¹lNbWQTQRmL»JdXl¤e_i�bWeTdXQtwGx¤ijdXP�dRbWSUPRe%VRªBYjwUfBYje%¶W^a`�eTd�Q_^D§�eTQTdRVXe_fBfBg·l+dXPWªB¬XSUP�V�PRSBcBeTQTdRfjPRQTdRY:QTe_¯�ba�cjbWdXcDYjQ_fjPW[]P�`jVRYj£�e_fBYjw�[TbafjdXe_ªBY®m�¼NQTdRbaf�baVRªBYBVybWeTdXQtw�Q_^D§�eTQTdRVXPWVybafBYjeofje_^yQTdXPWZBiBYBVRgLh�bWQ_Yjl¢¯jdXPRdRYBijeTQTSDYBh­`jVRYj£�e_fBYBZ
[TbafjdXe_ªBY®xXQTdXcBeTl¤wD§¦YBhyQtw¥S�SUPWªjeT¶XbafBYjwDl�VXPRSBcD^U[rSDbWQ]bWdXe_ªB¬RfjPWZ­S�PRcB¶WYjdXeRmXn�bTi�baªB¬RfBg·e·^yQ_ªjPWVRYjw°`jªjw¥dRbWSDYBh�`jVRYj£�e_fBYBZ
PR¶RcjbW¨_^D±Jd¥¯jPWVXeTcyhUfjPRQTdR¬¥Vk½«bW¨TPWVXPRl"¯jcBPRQTdXcjbafjQTdRVXe«Q_YjQTdXeTl¢g¦xU^DcjbaVRfje_fBYje«SUPRdXPRcBPWZ\¨]ba¯BYjQ_gLVybWeTdXQtwkVo¯jcDYj¶WªBYj£�e_fBfjPWZ
baf�baªBYjdRYBijeTQTSUPWZ:½JPRcBl¤eRmu¼JcjbaVRfje_fBYje%¾TdXPWZ"¯jPWVXeTcyhUfjPRQTdRY:cjbWQTQTlNbWdXcDYBVybWeTdXQtw&SDbWS:SBcDYjdXeTcDYBZ2`jªjw&PW¯jcBet`�e_ªje_fBYjw2f�ba�
¯jcjbaVRªje_fBYjw�VXcjbW§�e_fBYjw�[TbafjdXe_ªBY�Yj¨¥PRSBcBeTQTdRfjPRQTdRY�fje_^yQTdXPWZBiBYBVXPW[]P­cjbaVRfjPWVXeTQ_YjwGm
¸<Q_ªB^Ui�bWe¥PRdRfjPRQ_YjdXe_ªB¬RfjPk`jªBYBfBfjPW[]P
dXcBPRQ]b·Y°eTQ_ªBY°[TbafjdXe_ªB¬JPR¶RcjbW¨TPWVybaf�b«cjbaVRfBg·l¢Y¥lNbWQTQ]bWl¢Y®xRPRSUPWªjPRQTe_¯�bWcjbWdXcDYjQ_fjPRe¤`jVRYj£�e_fBYje©[TbafjdXe_ªBY°PW¯BYjQ_gLVybWeTdXQtw¦¯jcDYB�
¶WªBYj£�e_fBfBg·l¢Y�baf�baªBYjdRYBijeTQTSDYjl¢Y�½JPRcBl¢^Wª�bWl¢Y®xjV­Q_ªB^Ui�bWe�PRdRfjPRQ_YjdXe_ªB¬RfjP�SUPRcBPRdXSUPW[]P�dXcBPRQ]boVXPR¨Tl¢^D§�e_fBfjPRe�`jVRYj£�e_fBYje
[TbafjdXe_ªBY%Yj¨_^Ui�bWeTdXQtw�iBYjQ_ªje_fBfjP�V¥`jVR^Dl¤eTcDfBgLh­QTe_ije_fBYjwUh�ijeTdRg·cBe_hDl¤eTcDfjPW[]P°¯jcBPRQTdXcjbafjQTdRVyb�f�bTi�baªB¬RfBgLhk^yQ_ªjPWVRYBZ®m

¿¥À~Á°ÂGÃWÄDÅ¦Ã°Æ]À~ÇDÄBÈGÉUÊjÇBÆWËuÌGÂGÃRÆaÊ�ÈyÍ�ÎUÏGÇBÆaÇDÄBÈyÍ�ÆaÌ~ÆaÎUÃRËLÈGÐBÇRÑ®ÒGÇBÆaÎUÇDÏGÇDÒGÒ�Í�Í�ÆaÄUÍGÓWÔ~ÐDÕGÃWÒGÎUÏ~ÈyÀ~ÔDÒGÇDÃ�ÒGÔDÁ°ÎUÇDÒGÇDÄUÖ
ÆaÊjÇDÃo×GÇUÀ~ÃDÐGØoÙjÒGÊGÕGÌ�Í2ÚkÈUÛWÏ~ÈUÒ�Ü\ÈGÐjÄDÇDÓRËuÙjÝ­ÃWÒGÒ~ÈyÍ�ÆaÌ~ÆaÎUÃRËLÈ

Þ.ßjàáßjâ<ã¦ä°å°æqç·ãNè
é(åëêGì�í.îqíNæqí¤ï�ætå¦ðoñ�íNå°ò
í�ãråôóõä°ñ°öø÷°÷�íNîtî%öõãLêGæqãrå

ætåùêGì�í.ò
íNårê�ïGóLî\ú+í¢û@ê�ãrå°æqóLåëüTã·ï~ò
í+ý¥íNîtä

þ �©ÿT�R�B��� �D�_�����B�©���D���q���	����
U� �B�·� �����B��
J�����q�R�B� �W�¥ÿT�T����������� �W�qÿT���j��� ���W����ÿT�R�B��� ���q� �B�J�������D���¥�B����� �X�����q��� � � �q���W���
�°���a���q� ÿ�� � m� �B�J���a���q� ÿ�� �¦ÿT�!�W���q����� �R�B�¥�R�"���B�Jÿ#�W��� �$�·� ���%�T���D�u��� �WÿT�#�­� �%���B�&�D���¥�B����� �j�T���D���R� ���q� myþ �«ÿ#��� �G���Bÿ��­ÿ#�W��� �
�('�� �T� �_�#) mGþ �¥���B�B���R���*���B�¥���D���q���+�%�W���¦ÿT�T���q�_���D�T��ÿ_�q� ���T�¦ÿT� �qÿT��� �a���W�q�B� � x ���B�¥���a���q� ÿ�� �,�%�W���¦� �¦���%��� �¢� ��ÿT�-�����a�q� ���R�
�·� ���.���B�&�D���¥�B����� �/�%�W�����W���0���B�«ÿ#�W��� �1� �T�B�����%� �L���%��� �~� �%ÿT�-�����a�q� ���R�"�·� ���%�W�q�B� �·���-�D� �B� m�2 ��������� �B�*���B�Jÿ#�W��� ���D�R�43 �
� �#�#
X�����B�·�W�q�B� �u��� �W�B���u�r���q���5�*���B���D���¥�B����� �U�q�������q� �R�B��� �W�qÿT�#�����*���B�r���a���q� ÿ�� � mXþ �·�B���q���������6���B�·���a���q� ÿ�� �r���87�ÿT� �T����� �
� �89j�B�T�BÿT�:���B���D���¥�B����� �5�����q� �R�o�R��� �¥� �,
U� ÿT� �B� �;�¥���/���B���D���¥�B����� �y�q�������q� �R�����T���a�������q� � mXþ �Lÿ�� �W� �<�������=���B�_�q�L�_�D� ���:�«�����
���>���B�1�D���¥�B����� �j�B�B�����W��� �1�W���8���8�q���q� ÿ$�����q� �R�B�:�q�T���D� �B���q��� � �D�����q� �R�B���W���R�8�����B�«�W�q�B� �����W�B�R�T��� m8? �B� �q� ���GÿT�R���D� �q� �R�B��� �W�
���B�T���������q� �R�B�rÿT�-�����R���*�o���D���@�WÿT�°� �.���B�����D���q���á�����W���������WÿT� mBþ �*�D�#�D�BÿT���W���#Ay�����q� �R�B�W�B�D�q�]�D� �%���q� �B�,���B� �·���D���@�WÿT� mþ �°ÿT�R�B��� �D�_�$���B� �J�#Ay�����q� �R�C�W�&�kÿ_�q� �q�_�q� �R�B� �W�&���B�*�D� �q�Tÿ��q� �R�����=���B���D���¥�B����� �G�q�������q� �R�D� �q�-�E���B�*
U� ÿT� �B� �;�\���©�B�B�����W��� �
�#Ay�B� � � �D�q� � m¢þ �"�D�#�D�BÿT�,� �W���¥��� �W�.�W�B�D�q�]�D� �%���q� �B�.���B�"�D���¥�B����� �N�B�#�a� � ���T���a�������q� �F�����q� �R��� �����B�kÿ#�W��� �­� �°�������B�_��� �R�B�
�W���"���B���D���¥�B����� �G� �rÿT�-�����R���#�%���N�#Ay�����4�%�W�����T� m�G ��� �B���U�����_�q� ÿ#���~�D�q�yÿT�#�D�D�q�T� x �u�*�W����� �D���1���B���D���¥�B����� �������q� �R�\� �
�;�u� � �D� ���T�B��� �R�����������W�B���Tÿ��q� �R�B�r���>� �R�D� � �D� ���T�B��� �R�����~�����WÿT�¦���¤� �B� �q� ���~ÿT�R���D� �q� �R�B�r� �>���B�«ÿ#�W��� �¦� �·�������B�_�·���B�W��� m

H,I�J�K$L8M�N�OWÉ�O�P4Q8R�I�S�I�S�T�I�M:O�J/O�S�I�U2Ð-V�W�X YZQ�S�I�M�Q5Y�R�L8W4O�S�M�Q5X W�SRÐ-R�I�W�S�M�Q5Y�[�I�K&S�L8W�XZQ5W0\4I�YZN¢Ð!]6Q5^8M�Q5W�^8XZQ5W¤Ð�P_I�M�S�V�M�`_I-N
O�J/O�S�I�U

abQ�S�T�I�UBQ�S�XZR�Q5Y6c�V�`/d�I-R#S,e�YZQ8O�O�X \_R�Q�S�X L8W4OWÉ/f�g�[*h�i�Ð g�h8j*h8fGÐ g�h8j*h8k

lFm*nboFlFm�pFlFq(rtsuoFlFqCvEoFwFqbx�y4z_z_{=x�|�}�~�x6���6x:��}"~��/{���~4�_�



~_y4z �b���D�5�,�_���:�:�>���

�%�����%�����&�(���

�B�/���&�� =¡��!¢��=¡F£/¤=�/����¥/¦%¡F�!�=�!£�¡��&¦¨§6©�ª�¤=��£8«>¬(¡!§����­ª=�/�-®6¡-¯=§��>°<����¤=��¢>©�®6¡!£±�/�!£�©�².£���«<��¯=§=��³
��´±�5©��&¦,°µª=��ª�¶8®=«>¤�§�¦,°·£�¡��¸¥¹¯=��§6©��&��¢_¡��1ºD©� ���§6©�«���ª=¡!¤�¥/¦,°·¤6©�»/��£�¼ �>½R�8¾�½�¿�¯6¡À»�¦,®�©¹¤6©������1��£�Á
¤=¡!§6©F�!£�©�¥/ÂF©�«±¢>®�©����!�� =¡��!¢_��³Ã�!¥/«>´�¢>©(¯=¥/¶4°±��©�£�¡!¤��6©8®=Ä/§�¦,°±£��� =¡!¢�½>¯=¥/��¿!©�².ÅF©�«���«Æ¥FÇ=¡!§�£/¤6©8®=Ä/§=�/�
§�Ä/².£���§=��¥��!¢_�/�E�!�>®6��¥��/�·ª=��®6¡/½>��ª�¶>»�®=��¢_��¥4©�§�¦È����£/§��À¤6©�»/��£�½>ª=�/�!¥/«>Å�¡!§�§�¦,°u¤6©�´!®=�� �§�¦%�µ¯=��§6©��&�>Á
 =¡��!¢��=�É�	£�¡-°>§��� =¡��!¢��=�È©��!ª=¡!¢�£�©��È¢_�/���&�� =¡��!¢��>°­�!�=�!£�¡��0½:�=�!ª=��®=Ä/´�¶_².Å(�>°	£/¤=�/�!¦¹��ºB¡(ª�¤=¡!£�¡!§>¯=¶/«
§6©uª=��®=§=��£/¶Ã�!ª��=�!¢>©>½���£��1¡!£/�=�È�1��§=��¿�¤6©�ÊB���E¼ �>½]�>½]�>½X	U�8¾�½�©�£�©�¢�¬(¡b»��=»�®=�=��¿�¤6©�ÊB��²Ë¢	§��=�Ì�	¢�¼ Í�¾t�
ÎÏ§6©��!£��5«>Å�¡�¡0¥/¤=¡��&«b�=���-®6¡-¯=¶_².£���«F¢>©�¢�¥���¡%»/��®6¡�¡%�-®6�5¬F§�¦%¡%Ð!®6¡��1¡!§�£/¦E¯=��§6©��&��¢��u�!¥/«>´8©�§�§�¦,°b¢_�/�-Á
�&�� =¡��!¢��>°�©�ª�ª6©�¤6©�£���¥�Ñ������@½$§6©�ª�¤��=�1¡!¤�½,¼ �_½D	U�>½D	!Í=½D	U�8¾�Ò-½$£�©�¢Ï�Ï�!�=�!£�¡��&¦D½&����¯6¡!¤4¬�©�Å(�=¡±§=¡��!¢_��®=Ä/¢_�
£�¡-®¹�>®=�Æ§=¡��!¢_��®=Ä/¢_��£/¤=�/����¥¹¼ �
	�Ó¢���8¾t�

ÎÔ§6©��!£��5«>Å�¡!³È¤6©�»/��£�¡	¤6©�������©�£/¤���¥4©�¡!£���«���¤=»���£�©8®=Ä/§6©�«��!�=�!£�¡���©>½0«>¥�®=«>².ÅF©�«���«+§=¡!¢_��£���¤�¦%�
�/»/�/»�Å�¡!§��=¡��·¢>®�©����!�� =¡��!¢_��³±£/¤=�/����¥���³±�!¥/«>´�¢��u�u���/�!£��5«>ÅF©�«���´.¢_�/���&�� =¡��!¢_��³Æ�!£�©�§�Ç�����½_§6©D¢_��§�Ç6©8°
¢_��£���¤=��³u´8©�¢�¤=¡!ª>®6¡!§u§=¡!¥�¡����/�&¦0³�§=¡!¤6©��!£8«>¬F�=�&¦0³À£/¤=�/�/½��b§=¡�»/��®=Ä/Â���¿5�D¿�¤�¶_´8©bÑ;�>®=��¢>©�»���§�¦.Ò-½4ª=¡!¤=¡-Á
¯=¥/��¿!©�².Å�¡!¿5�/��«Ãª=�b��§=¡!¤�Ç����¹�Ã»/¡!´C£/¤=¡!§���«Æª=�b£/¤=�/�!¶G�6Õ$©�¢_��³	£/¤=�/�C�1�5¬(¡!£À»�¦0£/Äu§6©�´�¥4©�§�Ö5®6¡�¡!¤=�/�,×
Ñ���£±¿5��®�®�©�§>¯6�!¢_��¿5�·Ö8ØÚÙ!ÛÚÙ!Ü�×ÀÝÞ¥�¡!¤=¡!¥/¢>©>½��/»�©u¢_��§�Ç6©u¢_��£���¤=��³­´8©�¢�¤=¡!ª>®6¡!§�¦.Ò-½�©�¥���«	�!�=�!£�¡���©�ÝßÖ��!�>Á
�!£�¡��1��³Æ�.®6¡�¡!¤�§=��³Æ�!¥/«>´�Ä/²(×B�6à�®6¡-¯=¶/«<¼ �>½t�8¾�½>ª�¤=¡-¯=ª=��®�©�¿!©�¡!£���«�½6 �£��(Ç=¡!§�£/¤Æ��©����B�!�=�!£�¡��&¦Ì¯=¥/��¬(¡!£���«
ª=�Æ¢�¤�¶_¿5��¥���³Ï��¤=»���£�¡	Ñ��bÇ=¡!§�£/¤=�/�¸¥¹Ç=¡!§�£/¤=¡bª�¤���£8«>¬(¡!§���«6Ò-½�©À¯�®=��§6©Æ£/¤=�/�5©¹��©8®�©±ª=�¹�!¤6©�¥/§=¡!§���²
�À¤6©8¯=��¶����/�tÐ�£���³���¤=»���£/¦¹���B�/���&�� =¡��!¢>©�«��!£�©�§�Ç���«��1��¯6¡-®=��¤�¶�¡!£���«�¢>©�¢E¿!©�§�£�¡-®=Ä=½�£B�#¡��1¢>©�¢E£/¥�¡!¤>Á
¯6�/¡D£�¡-®6��½����/�!£��5«>Å�¡�¡C��´D¯=¥/¶4°¹��©�£�¡!¤��6©8®=Ä/§�¦,°¹£��� =¡!¢�½����/¡-¯=��§=¡!§�§�¦,°¹§=¡!¥�¡����/�&¦%�+§=¡!¤6©��!£8«>¬F�=�&¦%�
�!£�¡!¤4¬F§=¡�����áâ´�¶_ 6©�².£���«�£���®=Ä/¢_�â£�©�¢��=¡�¯=¥/��¬(¡!§���«F�!�=�!£�¡��&¦D½�¥â¢_��£���¤�¦,°�¥���¡,¡�¡�Ð!®6¡��1¡!§�£/¦E�/�!£�©�².£���«
¥bª>®6�/�!¢_�/�!£/�Ã��¤=»���£/¦¹�

ºD©µª�¤6©�¢�£/��¢_¡	®6¡�¡!¤�§6©�«Ì�!¥/«>´�ÄE�1�5¬(¡!£E»�¦0£/Ä��=�!ª=��®=Ä/´5��¥4©�§6©·¯�®=«+£���¿5��½� �£��/»�¦ãª=¡!¤=¡��1¡��!£/��£/Ä
§=¡!¢_��£���¤�¦0³±¿�¤�¶_´â�.��¯=§=��¿5��¢_��§�Ç6©(��¤=»���£�©8®=Ä/§=��³Æ�!£�©�§�Ç����±§6©B¯=¤�¶_¿5��³�½_¡��-®=��½_§6©�ª�¤��=�1¡!¤�½_ª=¡!¤=¡��1¡!Å�¡-Á
§��=¡B¥�¯6��®=Ä��5©��1��³Æ�!£�©�§�Ç����¹ª=��¢>©�¢��=�$Á�®=�=»/��ª�¤��� ���§6©���§=¡!¥���´5�1�5¬F§=��½=¯�®=«±�!£�©�»��>®=��´8©�Ç����	�!£�©�§�Ç����
¥¹ª=��®6�5¬(¡!§�����½%Ö8§6©�¢>®6��§�§=�/�,×Ã¢µ��¤=»���£�¡	Ñ��!¶_Å�¡��!£/¥���¥4©�§��=¡b�µ¶��!£���³� ���¥��/�!£/ÄÃ¤6©�¥/§=��¥�¡��!§�¦,°µ¢_��§=ÊB�>Á
¿�¶_¤6©�Ç���³±�!�=�!£�¡��&¦È�%®6¡�¡!¤�§=��³Æ�!¥/«>´�Ä/²���´�¶_ =¡!§�¦Ì¥À¼ 	U�>½q��Í�¾��.�=�!ª=��®=Ä/´5��¥4©�§��=¡��È¼ ä8¾�Ò1�À£B��ª·�=å"£��1¡!£/�=�0½
 �£���´8©��1¡!§���¥À¢>©�»���§�¶Æ§6©�®6¡�¡!¤=¡(´8©8°>¥4©�£/¦0¥4©�².Å(�=��¶��!£/¤=��³=�!£/¥��/�0½��1�5¬F§=�u�&«>¿�¢_�<Ñ;£B�#¡���»/¡!´��!¢>©� �¢_��¥
�!¢_��¤=�/�!£/�u�b¶��!¢_��¤=¡!§���«6Ò1´8©8°>¥4©�£/¦0¥4©�£/ÄC§=¡!¶_ª�¤6©�¥�®=«�¡��&¦%¡"¢_�/���&�� =¡��!¢��=¡.£�¡-®�©>½/ª�¤=��®6¡!£�©�².Å(�=¡"¥C��ª6©��-Á
§=��³±»�®=��´5�/�!£/�Æ��£F�!£�©�§�Ç����·��Ñ�Î,��´5�1�5¬F§=�/�!£/Äb£�©�¢_��¿5�F´8©8°>¥4©�£�©>½>§6©C�/�!§=��¥�¡�Ö�»/¡!´�¶8¯�©�¤�§�¦,°�¯=¥/��¬(¡!§���³�×
��´�¼ 	D�5¾�½�ª=��®=¶_ =¡!§�§�¦,°Æ�â�=�!ª=��®=Ä/´5��¥4©�§��=¡��¸¼ ä>½_�/æ8¾�½�£�¡���¤=¡!£/�� =¡��!¢��	�/»/�/�!§=��¥4©�§6©F¥Æ¼ 	5ä8¾�ÒR�

ÎÉ��¯=§=�/����´Cª�¤=¡-¯�®�©�¿!©�¡��&¦,°Ã¥4©�¤��6©�§�£���¥u´8©8°>¥4©�£�©bª�¤=¡-¯=ª=��®�©�¿!©�¡!£���«�½: �£����!£�©�§�Ç���«¹¤6©��!ª=��®6�5¬(¡-Á
§6©âª=�B¢>©��5©�£�¡-®=Ä/§=��³u¢���¤=»���£�¡/½�£B�#¡���´8©�§��=��©�¡!£C§=¡!¶��!£���³� ���¥��/¡FÖ8¿5��¤���´5��§�£�©8®=Ä/§=�/¡�×�ª=��®6�5¬(¡!§��=¡��>ç��-®=�
£�©�¢_�/¡�ª=��®6�5¬(¡!§��=¡F§=¡(»�¶8¯6¡!£À¢>©�¢��=�$Á�£��±�/»�¤6©�´5�/�Ì�!£�©�»��>®=��´���¤=��¥4©�§=��½�£��b¯�©�¬(¡���©8®6¡!§�Ä/¢���³<¿�¤�¶_´(§6©
®6¡�¡!¤=¡<�!ª=�/���/»/¡!§Èª=¡!¤=¡!¥�¡!¤�§�¶_£/Ä��!£�©�§�Ç���²2�%èB��Ð�£��/�&¶É©�¢�£/¶4©8®=Ä/§6©Ï´8©8¯�©� 6©Ï�=���-®6¡-¯6��¥4©�§���«É¥/´8©��=�&§=��Á
¿5�u¥�®=��«>§���«¹¯=¥/��¬(¡!§���³­¿!©�§�£�¡-®=�<�Ã¢>©�»���§�¦¹�L�.¤6©�¥/§=¡!§���«¹¯=¥/��¬(¡!§���«<�!�=�!£�¡��&¦t�D®6¡�¡!¤�§=��³­�!¥/«>´�Ä/²�½
ª=�/�1¡!Å�¡!§�§=��³�¥<��¯=§=��¤=��¯=§=�/¡Æ�!�>®6��¥��/¡Àª=��®6¡/½$ª�¤=����§�£�¡!¿�¤���¤=��¥4©�§�¦Ô¥�¼ 	U�8¾�½&��¯=§6©�¢_�<£�©¹¬(¡À�!�=�!£�¡���©>½
ª=�/�1¡!Å�¡!§�§6©�«­¥±Ç=¡!§�£/¤6©8®=Ä/§=�/¡b§�Ä/².£���§=��¥��!¢_�/¡�ª=��®6¡b�!�>®�½�ª=��Á�¥/�>¯=�=�1�/�&¶�½�§=¡!��§�£�¡!¿�¤���¤�¶�¡���©
�$Õ�¡��É§=¡
�1¡!§=¡�¡/½,¡��-®=�Ì��©����5©µ¢>©�»���§�¦ßÑ;�>®=�Ì�#°>¥4©�£�©�Òu��©8®�©>½*¥·¤6©��&¢>©8°Ì�#¯6¡-®�©�§�§�¦,°+ª�¤=¡-¯=ª=��®6�5¬(¡!§���³��1�5¬�Á
§=�Æ¿5��¥���¤���£/Ä<�Æ¥���´5�&¶_Å�¡!§����µ��§�£�¡!¿�¤���¤�¶�¡��1��³�´8©8¯�©� ��Ï�Æª>®6�/�!¢��>°­¯=¥/��¬(¡!§���«_°µ£/¥�¡!¤�¯6��¿5�Ã£�¡-®�©±§6©
¢�¤�¶_¿5��¥���³Ï��¤=»���£�¡	¼ 	/½U	5æ>½U	�	-¾t�$áâ´�¥�¡��!£/§=��½$ �£��±¯=¥/��¬(¡!§��=¡À��¤=»���£�©8®=Ä/§=��³�¿!©�§�£�¡-®=����£/§=�/�!��£�¡-®=Ä/§=�	¡�¡
Ç=¡!§�£/¤6©F��©����â¢>©� =¡��!£/¥�¡!§�§=�u����¥/ª6©8¯�©�¡!£u�"¯=¥/��¬(¡!§��=¡�����©�£�¡���©�£/�� =¡��!¢_��¿5�u��©�«>£/§���¢>©F�Æ»�¦0¥4©�¡!£b£/¤=¡-°
£/��ª=��¥¤
�¢_��®6¡�»�©�§���«<¥���¢�¤�¶_¿F§6©�ª�¤6©�¥�®6¡!§���«<§6©�ª�¤���£8«>¿���¥4©�².Å(��³­Ç=¡!§�£/¤�½�¥/¤6©�Å�¡!§���«	¥���¢�¤�¶_¿FÇ=¡!§�£/¤6©
��©����(�EÖ���¡!ª6©�¤6©�£/¤��=�!§=�/¡(¯=¥/��¬(¡!§��=¡�×�½��!£/¤=¡��&«>Å�¡�¡���«	¢�Ö8¿5��¤���´5��§�£�©8®=Ä/§=�/�&¶�×¹¤6©�¥/§=��¥�¡��!��²2�:éÃ�5¬(¡!£
»�¦0£/Ä�ª=��¢>©�´8©�§=��½� �£��b¢>©�»���§6©b§6©(®6¡�¡!¤=¡C�1�5¬(¡!£À¢>©� =¡��!£/¥�¡!§�§=�u��´5�1¡!§���£/ÄÀ��£/§=�/�!��£�¡-®=Ä/§=�/¡C¯=¥/��¬(¡!§��=¡
¿!©�§�£�¡-®=�F£���®=Ä/¢_�â¥.§=¡!¢_��£���¤=��³���¢�¤=¡��!£/§=�/�!£/�b��¡!ª6©�¤6©�£/¤��=�!§=��¿5�â¯=¥/��¬(¡!§���«L�/ºD©�ª�¤��=�1¡!¤�½/¡��-®=��¿!©�§�£�¡-®=Ä
ª=¡!¤�¥���§6©� 6©8®=Ä/§=�bª=�� �£/�±¿5��¤���´5��§�£�©8®=Ä/§6©>½6¥���´5�1�5¬F§�¦È£/¤��À¥4©�¤��6©�§�£�©�§6©� 6©8®�©F¡�¡"¯=¥/��¬(¡!§���«L
�ª=¡!¤=¡!¥���Á

lFm*nboFlFm�pFlFq(rtsuoFlFqCvEoFwFqbx�y4z_z_{=x:|�}�~�x6���6x���}.~��/{���~4�_�



ê ��ë���ì��:�:�µë�í8í-î��:��ï·ð8��ì6ñ/�·�:ò	���4��ó¨í8�:�:íuô�ò4�:õuí!ë�í8�4�����:�4ô��Àõuí!ë�ò ~_y��

¤6©� ���¥4©�§��=¡"ª�¤=��£/��¥D 6©�����¥���³��!£/¤=¡-®=¢���½/ª=¡!¤=¡!¥���¤6©� ���¥4©�§��=¡.ª=�â 6©�����¥���³��!£/¤=¡-®=¢_¡%��©��!�=�&ª�£���£/�� =¡��!¢_�/¡
¯=¥/��¬(¡!§��=¡/½��!£/¤=¡��&«>Å�¡�¡���«¹¢Æ¢_��®6¡�»�©�§���«���¥���¢�¤�¶_¿±Ö8¿5��¤���´5��§�£�©8®=Ä/§=��¿5�>×±¤6©�¥/§=��¥�¡��!��«L�6ÎÌ§6©��!£��5«>Å�¡!³
¤6©�»/��£�¡¹��ª�¤=¡-¯6¡-®=«>².£���«E§6©� 6©8®=Ä/§�¦%¡Æ¶��-®6��¥/��«�½����/��£/¥�¡!£��!£/¥/¶_².Å(�=¡Æ£�©�¢��=�Ë©��!�=�&ª�£���£/�� =¡��!¢��=�t¯=¥/�>Á
¬(¡!§���«����_é¹§=��¿5�/�/»�¤6©�´��=¡%£�©�¢��>°b§6©� 6©8®=Ä/§�¦,°b¶��-®6��¥/��³�ª�¤=¡-¯6�!£�©�¥�®=«�¡!£���«u¥D¥/�>¯6¡,¯=¥/¶>�1¡!¤�§=��³�ª=��¥�¡!¤�°_Á
§=�/�!£/�Æ¥b§=¡!¢_��£���¤=��³¹£/¤=¡-°��1¡!¤�§=��³¹ª�¤=�/¡!¢�Ç����ÃÊC©�´5��¥���¿5�Fª�¤=�/�!£/¤6©�§=�!£/¥4©b�!�=�!£�¡��&¦¹�:ö�©�¢�£/�� =¡��!¢���½6Ð�£�©
ª=��¥�¡!¤�°>§=�/�!£/Äb¤6©�´!¯6¡-®=«�¡!£bÊC©�´5��¥��/¡.ª�¤=�/�!£/¤6©�§=�!£/¥��b§6©(�/»�®�©��!£/�À®6¡!¥/¦,°u�Àª�¤6©�¥/¦,°uª=¡!¤=¡!¥���¤6©� ���¥4©�§���³
¿!©�§�£�¡-®=�·��èâ¤��=»�®=��¬(¡!§�§=�/¡F©�§6©8®=��£/�� =¡��!¢_�/¡(¶_¤6©�¥/§=¡!§��=¡DÐ�£���³¹ª=��¥�¡!¤�°>§=�/�!£/�Ãª�¤=¡-¯6�!£�©�¥�®=«�¡!£���«Ã¥b¥/�>¯6¡
´8©�¥/�=�!�=�1�/�!£/��§6©� 6©8®=Ä/§=��¿5�.¶_¿�®�©0ª=��¥���¤=��£�©"�D§6©� 6©8®=Ä/§=��³�¶_¿�®6��¥���³��!¢_��¤=�/�!£/�(¿!©�§�£�¡-®=����£"§6©� 6©8®=Ä/§=��¿5�
ª=��®6�5¬(¡!§���«Ã�¹§6©� 6©8®=Ä/§=��³<��£/§=�/�!��£�¡-®=Ä/§=��³	�!¢_��¤=�/�!£/�	¢>©�»���§�¦¹��Õ�¡��+�5©��&¦%�E¥/¦0¥���¯=��£���«Ã¢�¤���£�¡!¤���³�½
ª=��´�¥���®=«>².Å(��³(��ª�¤=¡-¯6¡-®=��£/Ä"§6©�¤6©�¥�®6¡!§��=¡�ª=¡!¤=¡!¥���¤6©� ���¥4©�§���«C¿!©�§�£�¡-®=�(¥0´8©�¥/�=�!�=�1�/�!£/�(��£%§6©� 6©8®=Ä/§�¦,°
¶��-®6��¥/��³�½/¡��-®=�(ª=¡!¤�¥���§6©� 6©8®=Ä/§=�B¿!©�§�£�¡-®=ÄD»�®=��´�¢>©.¢ÆÖ8¿5��¤���´5��§�£�©8®=Ä/§=�/�&¶�×Dª=��®6�5¬(¡!§���²2�/áB���-®6¡-¯=¶�¡!£���«
©��!�=�&ª�£���£/��¢>©b�Æ§=¡!¢_��£���¤�¦%¡B°_©�¤6©�¢�£�¡!¤�§�¦%¡C�!¥���³=�!£/¥4©Fª=��¥�¡!¤�°>§=�/�!£/�	©��!�=�&ª�£���£/�� =¡��!¢��>°Æ¯=¥/��¬(¡!§���³·�

÷*®=��´�¢_�/¡,¢F��¡!ª6©�¤6©�£/¤��=�!§=�/�&¶C¯=¥/��¬(¡!§��=¡0¿!©�§�£�¡-®=��½�¥/¦0´�¦0¥4©�¡��1�/¡�¯=¥/��¬(¡!§��=¡��<¢>©�»���§�¦�ª=�"®6¡�¡!¤�¶�½
¥CÇ=¡-®6�/�µª�¤=¡-¯6�!£�©�¥�®=«�¡!£F���/»/��³�ª=�/�-®6¡-¯6��¥4©�£�¡-®=Ä/§=�/�!£/ÄFª=��®=¶��/»/��¤=��£���¥�¿!©�§�£�¡-®=�Àª=�D��ª�¤=��£/��¥C 6©�����¥���³
�!£/¤=¡-®=¢���½�§6©� ���§6©�².Å(�>°4��«Æ�À´8©�¢>©�§� ���¥4©�².Å(�>°4��«¹¥F��¢�¤=¡��!£/§=�/�!£/��Ö8¿5��¤���´5��§�£�©8®=Ä/§=��¿5�>×u¤6©�¥/§=��¥�¡��!��«L�
èB��Á�¥/�>¯=�=�1�/�&¶�½�¥�§=¡!¢_��£���¤�¦,°	�-®=¶_ 6©�«_°¹�1�5¬(¡!£À�>¯=£/�¹¤=¡! �ÄÀ�F°_©���£/�� =¡��!¢��>°¹ =¡!¤=¡-¯6��¥4©�§���«_°¹§6©�ª�¤6©�¥�Á
®6¡!§���«·ª=¡!¤=¡!¥���¤6©� ���¥4©�§���«E¿!©�§�£�¡-®=��½1��¯=§6©�¢_�<Ð�£���£	¥���ª�¤=�/�À£/¤=¡�»�¶�¡!£Ã¯6��ª=��®=§���£�¡-®=Ä/§=��¿5�­�=���-®6¡-¯6��¥4©8Á
§���«L�1Îø§6©��!£��5«>Å�¡!³E�!£�©�£/Ä�¡±¥<�-®=¶_ 6©�¡/½&¢_��¿�¯�©	¿!©�§�£�¡-®=Äµ�!�=�1�1¡!£/¤��� �§6©>½1£B�#¡��1�/»�¤6©�´5��¥4©�§6©	¤6©�¥/§�¦%�&�
��©����5©��&��½��	¯�®=��§6©u£/¤=�/�5©u¯6�/�!£�©�£��� �§=�Æ¥�¡-®=��¢>©±ª=�±�!¤6©�¥/§=¡!§���²ù�(¯�®=��§=��³­¿!©�§�£�¡-®=��½�ª�¤��=»�®=��¬(¡!§�§=�
¥/¦0ª��=�!¦0¥4©�².£���«u´8©�¢_��§�¦�¯=¥/��¬(¡!§���«u�!�=�!£�¡��&¦+ª�¤��bª�¤6©�¥��/�µ�F®6¡!¥��/�µª=��®=¶��/»/��¤=��£�©8°�¥/§=¡%§=¡!¢_��£���¤�¦,°
��¢�¤=¡��!£/§=�/�!£�¡!³øÖ8¿5��¤���´5��§�£�©8®=Ä/§�¦,°:×�¤6©�¥/§=��¥�¡��!��³·�,Õ���¿�¯�©<¯�®=«���ª��=�5©�§���«E¯=¥/��¬(¡!§���«�§6©<ª�¤=��£8«>¬(¡-Á
§����Ã§=¡��!¢_��®=Ä/¢��>°¹¥/��£/¢_��¥uª=����¤=»���£�¡D¯6�/�!£�©�£��� �§=�­Ö��!Â(��£/Ä�×uª�¤��=»�®=��¬(¡!§�§�¦%¡�¤=¡!Â�¡!§���«Æ´8©8¯�©� ��Ã¥/§=¡
�b¥C��¢�¤=¡��!£/§=�/�!£8«_°<Ö8¿5��¤���´5��§�£�©8®=Ä/§�¦,°:×�¤6©�¥/§=��¥�¡��!��³<Ñ;ª=�/�-®6¡-¯=§��=¡"ª=��®=¶_ =¡!§�¦�ª�¤��b¥/¦0¥���¯6¡%¢�¤���£�¡!¤���«
¯�®=«±§6©�ª�¤6©�¥�®6¡!§���«Æª=¡!¤=¡!¥���¤6©� ���¥4©�§���«¹¿!©�§�£�¡-®=��ÒR�

ú&©�������©�£/¤���¥4©�¡���©�«��1��¯6¡-®=ÄÃ¯=¥/��¬(¡!§���«�½$¥��/�/»�Å�¡b¿5��¥���¤4«�½�ª�¤=¡-¯=§6©�´�§6©� =¡!§6©¹¯�®=«µ��£/§=�/�!��£�¡-®=Ä/§=�
§=¡�»/��®=Ä/Â(�>°uª�¤=�/�1¡!¬F¶_£/¢_��¥b¥/¤=¡��1¡!§��·��èB��Ð�£��/�&¶��=�1¡�¡!£F���&¦%�-®±��´�¶_ 6©�£/Ä(¯=¥/��¬(¡!§��=¡â§6©Cª�¤=��£8«>¬(¡!§����
��¯=§=��¿5��Á�¯=¥/¶4°�ª=¡!¤�¥/¦,°(ª=¡!¤=¡!¥���¤6©� ���¥4©�§���³·�4Îµ§6©��!£��5«>Å�¡!³F¤6©�»/��£�¡�ª�¤���¥���¯=«>£���«Fª�¤��=�1¡!¤�¦� ��=�-®6¡!§�§=��¿5�
©�§6©8®=��´8©±¯=¥/��¬(¡!§���«·¿!©�§�£�¡-®=�·§6©±ª�¤=��£8«>¬(¡!§����·¯=¥/¶4°­ª=¡!¤�¥/¦,°­ª=¡!¤=¡!¥���¤6©� ���¥4©�§���³�¥Ã�-®=¶_ 6©�¡/½�¢_��¿�¯�©
¿!©�§�£�¡-®=ÄF§=¡��!�=�1�1¡!£/¤��� �§6©>½=©D£/¤=�/�â��£/§=�/�!��£�¡-®=Ä/§=��¢_��¤=��£���¢·�~�D®=«�Ð�£���¿5�C¤6©�������©�£/¤���¥4©�².£���«À¯=¥/¶>�1¡!¤>Á
§�¦%¡*��¡! =¡!§���«B =¡!£/¦0¤=¡-°��1¡!¤�§=��¿5�"ª�¤=�/�!£/¤6©�§=�!£/¥4©%§6©� 6©8®=Ä/§�¦,°C¶��-®6��¥/��³�½5¥%¢_��£���¤�¦,°C�!£/¤=�5«>£���«C�/»�®�©��!£/��½
���/��£/¥�¡!£��!£/¥/¶_².Å(�=¡b =¡!£/¦0¤=¡���¥���´5�1�5¬F§�¦%��£/��ª6©��Ì¯=¥/��¬(¡!§���«µ¿!©�§�£�¡-®=��½&©u�=�1¡!§�§=�¢
$û�Ò.ª=��¥���¤=��£¹§6©
¶_¿5��®�½5»�®=��´�¢���³C¢

2π
ª=�0 6©�����¥���³(�!£/¤=¡-®=¢_¡/ü5ý�Ò�ª=��®=¶��/»/��¤=��£"ª=�0 6©�����¥���³C�!£/¤=¡-®=¢_¡/½8´8©�£�¡��±¥���´�¥/¤6©�Å�¡!§��=¡

¥(ª=��®6�5¬(¡!§��=¡/½�»�®=��´�¢_�/¡.¢uª=¡!¤�¥���§6©� 6©8®=Ä/§=�/�&¶:ü�þ8Ò1ª=��¥���¤=��£(§6©D¶_¿5��®�½_»�®=��´�¢���³À¢
2π
ª�¤=��£/��¥( 6©�����¥���³

�!£/¤=¡-®=¢���ü�ÿ6Ò0ª=��®=¶��/»/��¤=��£±ª�¤=��£/��¥À 6©�����¥���³­�!£/¤=¡-®=¢���½�´8©�£�¡��+¥���´�¥/¤6©�Å�¡!§��=¡�¥uª=��®6�5¬(¡!§��=¡/½�»�®=��´�¢_�/¡
¢¹ª=¡!¤�¥���§6©� 6©8®=Ä/§=�/�&¶G��Î�¦,¯6¡-®=«>².£���«¹£�©�¢�¬(¡��/»�®�©��!£/��½6¿�¯6¡D¯=¥/��¬(¡!§��=¡(�D§6©�£8«>§�¶_£/¦%�+£/¤=�/���/��§=¡!¥���´!Á
�1�5¬F§=�¢����¤6©�§���Ç�¦Ô�1¡!¬�¯=¶µÐ�£/�=�&���/»�®�©��!£8«��&��½1¢>©�¢ÏÐ�£��¹°_©�¤6©�¢�£�¡!¤�§=�Ã¯�®=«·¥���´5�&¶_Å�¡!§�§�¦,°Ï�!�=�!£�¡��0½
�/»�¤6©�´�¶_².£±�&§=��¿5�/�/»�¤6©�´��=¡�¥�¡��!Ä���©��-®6�5¬F§=��³­ÊD��¤=�&¦¹���D©��!£/Äu£��� =¡!¢	Ð�£���¿5�À�&§=��¿5�/�/»�¤6©�´���«	���/��£/¥�¡!£�Á
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A3
��©����!¦

m3
Ñ����Æ¤��=���~	8Ò-½��!¥��/»/��¯=§=�"ª=¡!¤=¡-¯=¥/��¿!©�².Å�¡!¿5�/��«�¥�¯6��®=Ä.§=¡!¥�¡����/�1��¿5�

§=¡!¤6©��!£8«>¬F�=�1��¿5�±£/¤=�/�5©�¯�®=��§�¦
2a
�C¢_��§�Ç6©��&��½:´8©�¢�¤=¡!ª>®6¡!§�§�¦%�&�­¥À£��� �¢>©8°

A1
�
A2

Ñ;§6©�´5��¥�¡��Ì£�©8Á
¢_��³±£/¤=�/�"®6¡�¡!¤=�/�*ÒR��÷�¶8¯6¡��Ï�! ���£�©�£/ÄF¢>©�»���§�¶À��©�£�¡!¤��6©8®=Ä/§=��³±£��� �¢_��³�½6©D£/¥�¡!¤�¯6�/¡B£�¡-®6�CÝø¿!©�§�£�¡-®=Ä/²�½
���/�!£��5«>Å�¡!³���´À��©�£�¡!¤��6©8®=Ä/§�¦,°Ï£��� =¡!¢��u��©����5©��&�

m1
�
m2
½$���/¡-¯=��§=¡!§�§�¦,°Ï§=¡!¥�¡����/�&¦%� §=¡!¤6©��!£8«_Á

¬F�=�&¦%� �!£�¡!¤4¬F§=¡�� ¯�®=��§�¦
2c
�&ºB¡u��¿�¤6©�§��� ���¥4©�«��/»�Å(§=�/�!£/�Ï¤6©����!¶_¬�¯6¡!§���³�½1»�¶8¯6¡��¸�! ���£�©�£/Ä=½& �£��

m1 6 m2
�

èâ¤=¡-¯=ª=��®6�5¬F�=�0½� �£��âÇ=¡!§�£/¤���©����0�!�=�!£�¡��&¦
C
¯=¥/��¬(¡!£���«bª=�.¢�¤�¶_¿5��¥���³���¤=»���£�¡0�,Ç=¡!§�£/¤=�/�	¥

O1
½

©Æ¯�®=��§6©Æ®6¡�¡!¤6©Ã��©8®�©Ãª=�Ã�!¤6©�¥/§=¡!§���² ��¤6©8¯=��¶����/� Ð�£���³���¤=»���£/¦¹�*å"¿�¤6©�§��� ��=�1��«�¤6©������1��£/¤=¡!§��=¡��
£���®=Ä/¢_�D£�©�¢��>°F¯=¥/��¬(¡!§���³�½�ª�¤��b¢_��£���¤�¦,°b¥���¡0£��� �¢��b¤6©�������©�£/¤���¥4©�¡��1��³À�!�=�!£�¡��&¦+�/�!£�©�².£���«b¥Dª>®6�/�-Á
¢_�/�!£/�	��¤=»���£/¦¹� ��©��1¡!£/�=�0½6 �£��b¢>©�»���§6©b§=¡D�1�5¬(¡!£À¥/¦0³�£/�¹´8©Fª�¤=¡-¯6¡-®=¦¸Ð!®�®=��ª=�5©

U
�DÊD��¢�¶��5©��&�¹§6©

¢_��§�Ç6©8°	¿!©�§�£�¡-®=��½:Ð�¢_�!Ç=¡!§�£/¤��=�!��£�¡!£��/�
e = c/a

�Ãª=��®=¶��/��«��&�
a
�
b =
√
a2 − c2 ��ÎÈ§6©�Â�¡��Ì�-®=¶_ 6©�¡

0 < e < 1
�.Ñ�Î �-®=¶_ 6©�¡

e = 1
ÊC©�¢�£/�� =¡��!¢��+¢>©�»���§6©<¯=¥/��¬(¡!£���«+¥�¯6��®=Ä·¿!©�§�£�¡-®=�·�,Õ$©�¢>©�«�´8©8¯�©� 6©

¤6©�������©�£/¤���¥4©�¡!£���«Ã¥Æ¼ ���8¾t� Ò
å" =¡!¥/�>¯=§=��½� �£��â¢>©�»���§6©B�1�5¬(¡!£(��¢>©�´�¦0¥4©�£/ÄC¥�®=��«>§��=¡0§6©"¯=¥/��¬(¡!§��=¡%¿!©�§�£�¡-®=��£���®=Ä/¢_�D¡��-®=�b£/¤=�/�

§6©�£8«>§�¶_£�½6£��b¡��!£/Äb¢>©�»���§6©b§6©8°4��¯=��£���«¹§6©�¿�¤6©�§���Ç=¡DÐ!®�®=��ª=�5©
�6ÎÌÐ�£��/�E�-®=¶_ 6©�¡C»�¶8¯6¡���¿5��¥���¤���£/Ä=½= �£��
¢>©�»���§6©(Ö8§6©8°4��¯=��£���«C§6©0�!¥/«>´���×B�8ÎÃÐ�£��/�Æ�-®=¶_ 6©�¡1ª=��®6�5¬(¡!§��=¡*¢>©�»���§�¦·��£/§=�/�!��£�¡-®=Ä/§=�"¿!©�§�£�¡-®=�(�1�5¬F§=�
��ª�¤=¡-¯6¡-®=��£/Ä�Ð�¢_�!Ç=¡!§�£/¤��� =¡��!¢_��³µ©�§=�/��©8®=�=¡!³¹Ð!®�®=��ª=�5©�ª=�bÊD��¤=�&¶8®�©��

x = a cos γ, y = b sin γ,
ÑT	8Ò

¿�¯6¡
x
�
y
Ý ¢_�/��¤�¯=��§6©�£/¦ ¢>©�»���§�¦ ¥��!�=�!£�¡��1¡	¢_�/��¤�¯=��§6©�£

Oxy
½
O
Ý ¿5¡��/�1¡!£/¤��� =¡��!¢���³�Ç=¡!§�£/¤

¿!©�§�£�¡-®=�·�6ç��-®=�¹¬(¡B¢>©�»���§6©b��¢>©�¬(¡!£���«¹¥/§�¶_£/¤��ÆÐ!®�®=��ª=�5©>½�£B�#¡��
x2/a2 + y2/b2 < 1

½�»�¶8¯6¡���¿5��¥���¤���£/Ä=½
 �£��F¢>©�»���§6©ÃÖ�����ÂC®�©F���F�!¥/«>´���×B�

èâ¶��!£/Ä
µ=(m2−m1)/ (m2+m1)

�
κ = m3 (m1 +m2) /4e2m1m2

��å.»/��´�§6©� ��=�È =¡!¤=¡!´
ϕ
¶_¿5��®

�1¡!¬�¯=¶
O1C

�Æ¿!©�§�£�¡-®=Ä/²2��å" =¡!¥/�>¯=§=��½6 �£��b¥�¤6©��&¢>©8°¹�#¯6¡-®�©�§�§�¦,°¹ª�¤=¡-¯=ª=��®6�5¬(¡!§���³­»/¡!´�¤6©�´5�1¡!¤�§�¦%¡
ª6©�¤6©��1¡!£/¤�¦

e, µ, κ
��»/¡!´�¤6©�´5�1¡!¤�§�¦%¡â�/»/�/»�Å�¡!§�§�¦%¡%¢_�/��¤�¯=��§6©�£/¦

ϕ, γ
ª=��®=§=�/�!£/Ä/²È��ª�¤=¡-¯6¡-®=«>².£(¢_��§>Á

ÊB��¿�¶_¤6©�Ç���²¸¤6©�������©�£/¤���¥4©�¡��1��³<�1¡-°_©�§��� =¡��!¢_��³	�!�=�!£�¡��&¦¹�
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!D�#"%$'&(�%�0���Ë���*)+��,Þ���&�(��� ���-$$�*�.�$�

�D©�»���§6©b»�¶8¯6¡!£F§6©8°4��¯=��£���«¹§6©��!¥/«>´���½�£B�#¡��=£/¤=�/�D»�¶8¯6¡!£F§6©�£8«>§�¶_£�½6¡��-®=�·Ñ�������¼ 	U�>½_��Í�¾�Ò

2
√

1− e2(1− eµ cos γ)(ϕ′ + 1)2 + 4(1− e2 cos2 γ)(1 + ϕ′)γ′ + 2
√

1− e2γ′2−

−3(1− e2) sin 2γ sin 2ϕ+
√

1− e2 [3 cos 2ϕ cos 2γ +1− eµ cos γ(1 + 3 cos 2ϕ)] > 0.

Ñ���Ò

�6¯6¡��!ÄÀÂ(£/¤��>°4�/�
( )′

�/»/��´�§6©� =¡!§6©uª�¤=����´�¥���¯=§6©�«	ª=�u»/¡!´�¤6©�´5�1¡!¤�§=�/�&¶Ã¥/¤=¡��1¡!§��
τ
½
τ = G1/2M1/2 ×

× |O1C|−3/2 t
½
G
Ý ¿�¤6©�¥/��£�©�Ç��=��§�§6©�«¹ª=�/�!£��5«>§�§6©�«�½

M
Ýù��©����5©Fª�¤���£8«>¿���¥4©�².Å�¡!¿5�bÇ=¡!§�£/¤6©
�

/ �#01�
2'	��0��, ���0�±�43ø�4����2'	��*&6587.�
�0�

ç��-®=��¢>©�»���§6©	§6©8°4��¯=��£���«E§6©Ã�!¥/«>´���½$¯=¥/��¬(¡!§��=¡Æ¿!©�§�£�¡-®=�E�Ï¢>©�»���§�¦ ¥���¢�¤�¶_¿Æ�/»�Å�¡!¿5�	Ç=¡!§�£/¤6©
��©����D��ª��=�!¦0¥4©�¡!£���«¹¶_¤6©�¥/§=¡!§���«��&�Ã�.®�©�¿�¤6©�§�¬F�6©�§=�/� Ñ�������¼ 	U�>½_��Í�¾�Ò

L = L2 + L1 + L0,
Ñ���Ò

¿�¯6¡

L2 = 1
2

{
ϕ′2 +κ

[
(1− 2eµ cos γ+ e2 cos2 γ)ϕ′2 + 2

√
1− e2 (1− eµ cos γ)ϕ′γ′+ (1− e2 cos2γ)γ′2

]}
,

L1 = κe cos γ (e cos γ − 2µ)ϕ′,

L0 =
3

2
cos2 ϕ+ κ

{
9

4
e2 cos2 ϕ− 3

2
eµ cos γ +

3

4
e2 cos2 γ− 3

4
eµ
[(

1−
√

1− e2
)

cos(2ϕ− γ)+

+
(

1 +
√

1− e2
)

cos(2ϕ+ γ)
]
− 3

8

[(
1−
√

1− e2
)2

sin2(ϕ− γ) +
(

1 +
√

1− e2
)2

sin2(ϕ+ γ)
]}

.

å" =¡!¥/�>¯=§=��½= �£��b�!�=�!£�¡���©b�.®�©�¿�¤6©�§�¬F�6©�§=�/� Ñ���Ò�¯6��ª�¶��!¢>©�¡!£u��§�£�¡!¿�¤6©8®:9.¢_�/»��

L2 − L0 = h.
Ñ;Í_Ò

;B�=<>�
$?���
�@�
�(���É��A
$'&(�%�0���B7.�*&F���
�
���C&(D0���
2?� ���0��,Þ�&�(���B2��0�4���C&��

Î �-®=¶_ 6©�¡/½1¢_��¿�¯�©
κ = 0

½&£B�#¡��1¢_��¿�¯�©­�1�5¬F§=�­ª�¤=¡!§=¡�»�¤=¡! �Äµ¥�®=��«>§��=¡��¨£�¡-®�©	§6©¹®6¡�¡!¤=¡±§6©	��£�Á
§=�/�!��£�¡-®=Ä/§=�/¡C¯=¥/��¬(¡!§��=¡�¿!©�§�£�¡-®=��½:�!�=�!£�¡���©��B®�©�¿�¤6©�§�¬F�6©�§=�/�tÑ���Ò%��ª��=�!¦0¥4©�¡!£uª>®6�/�!¢��=¡C¯=¥/��¬(¡!§���«
£/¥�¡!¤�¯6��¿5��£�¡-®�©·¥���¢�¤�¶_¿<Ç=¡!§�£/¤6©Ï��©����/½�¯=¥/��¿!©�².Å�¡!¿5�/��«Èª=�·¢�¤�¶_¿5��¥���³���¤=»���£�¡EÑ������B¼ 	-¾�ÒR�,Õ$©�¢È¢>©�¢
¶_¤6©�¥/§=¡!§���«	¯=¥/��¬(¡!§���«­¥±Ð�£��/�É�-®=¶_ 6©�¡F����¥/ª6©8¯�©�².£Ã�(¶_¤6©�¥/§=¡!§���«��&�­¯=¥/��¬(¡!§���«­��©�£�¡���©�£/�� =¡��!¢_��¿5�
��©�«>£/§���¢>©>½:�!¶_Å�¡��!£/¥/¶_².£�£/¤��Ã£/��ª6©F¯=¥/��¬(¡!§���³	¿!©�§�£�¡-®=�·
�¥/¤6©�Å�¡!§��=¡C¥���¢�¤�¶_¿CÇ=¡!§�£/¤6©u��©����uÑ

h > 0
Ò-½

¢_��®6¡�»�©�§���«�¥���¢�¤�¶_¿À§6©�ª�¤6©�¥�®6¡!§���«�§6©¹ª�¤���£8«>¿���¥4©�².Å(��³�Ç=¡!§�£/¤�Ñ
h < 0

ÒD�E©��!�=�&ª�£���£/�� =¡��!¢_�/¡·Ñ���¡-Á
ª6©�¤6©�£/¤��=�!§=�/¡8Òâ¯=¥/��¬(¡!§��=¡/½$�!£/¤=¡��&«>Å�¡�¡���«­¢<§=¡!¶��!£���³� ���¥��/�&¶+Ö8¿5��¤���´5��§�£�©8®=Ä/§=�/�&¶�×EÑ;¢>©��5©�£�¡-®=Ä/§=�/�&¶
¢¹��¤=»���£�¡8Ò�ª=��®6�5¬(¡!§���²ÞÑ

h = 0
ÒR�

èâ¶��!£/Ä
κ� 1

½�£B�#¡�����©����5©.£�¡-®�©â§6©"®6¡�¡!¤=¡0��©8®�©>½/§=�B¡�¡,¥�®=��«>§��=¡��<§=¡-®=Ä/´�«Fª�¤=¡!§=¡�»�¤=¡! �Ä¤�_å" =¡!¥/�>¯�Á
§=��½=¥bÐ�£���³¹�!��£/¶4©�Ç����¹¢>©� =¡��!£/¥�¡!§�§�¦%¡���´5�1¡!§=¡!§���«Æ¥bª=��¥�¡-¯6¡!§����Ã¿!©�§�£�¡-®=�Ã�1��¿�¶_£bª�¤=����´5��³�£/�Ã£���®=Ä/¢_�
ª�¤��Æ��£/§=�/�!��£�¡-®=Ä/§=�b��©8®=¦,° |h| �6ö�©�¢�£/�� =¡��!¢���½=¡��-®=�±´�§6©� =¡!§��=¡B¢_��§=�!£�©�§�£/¦���§�£�¡!¿�¤6©8®�©(9.¢_�/»��¹»�®=��´!Á¢_�b¢±§�¶8®=²�½���£/§=�/�!��£�¡-®=Ä/§=�/¡D¯=¥/��¬(¡!§��=¡C¿!©�§�£�¡-®=�¹ª�¤=¡-¯6�!£�©�¥�®=«�¡!£À���/»/��³Æª=�/�-®6¡-¯6��¥4©�£�¡-®=Ä/§=�/�!£/ÄÀª=��®=¶4Á
�/»/��¤=��£���¥�ª=���±ª�¤=��£/��¥� 6©�����¥���³¹�!£/¤=¡-®=¢��·�=èB��Á�¥/�>¯=�=�1�/�&¶�½6´!¯6¡��!Ä��1�5¬F§=�F¿5��¥���¤���£/Äu�(°_©���£/�� =¡��!¢_��³
���1¡!§=¡0§6©�ª�¤6©�¥�®6¡!§���³�¥/¤6©�Å�¡!§���«F¿!©�§�£�¡-®=��¥B£�¡0�1�/�1¡!§�£/¦D½/¢_��¿�¯�©D��§6©B»�®=��´�¢>©â¢ÃÖ8¿5��¤���´5��§�£�©8®=Ä/§=�/�&¶�×
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ª=��®6�5¬(¡!§���²2�_Õ�¡��	§=¡0�1¡!§=¡�¡/½��1�5¬F§=�D¶_¢>©�´8©�£/ÄDª�¤=�/�!£���³b¢�¤���£�¡!¤���³�½/¥/¦0ª=��®=§=¡!§��=¡%¢_��£���¤=��¿5�D¿!©�¤6©�§�£/�>Á
¤�¶�¡!£Æ¢_��®6¡�»�©�£�¡-®=Ä/§�¦0³µ°_©�¤6©�¢�£�¡!¤­¥���´5�&¶_Å�¡!§�§=��¿5�À¯=¥/��¬(¡!§���«­¿!©�§�£�¡-®=�ÌÑ;¥���´5�1�5¬F§=��½��b©��&ª>®=��£/¶8¯6��³�½
»�®=��´�¢_��³À¢

π/2
ÒR�E��©��1¡!£/�=�0½4 �£��C¿�¤6©�ÊB��¢uÊB¶_§�¢�Ç����

U = −L0
ª�¤=¡-¯6�!£�©�¥�®=«�¡!£F���/»/��³­Ö8¿5��¤�§�¶_²È�!£/¤6©8Á

§�¶�×<þÀ =¡!¤=¡-¯=¶_².Å(�=�&�=��«�Ö5°>¤=¡�»�£�©��&��×
ϕ = π/2 + πk

��Ö8¶_Å�¡-®=Ä/«��&��×
ϕ = πk

Ñ������&¤��=������ÒR�&ºD©
¢>©�¬�¯6�/�+°>¤=¡�»�£�¡�¡��!£/ÄµÖ8ª���¢���×

γ = πk
�EÖ8ª=¡!¤=¡!¥4©8®=¦B×

γ = π/2 + πk
�&ÑF�6¯6¡��!Ä

k
ÝÔª�¤=����´�¥���®=Ä/§=�/¡

Ç=¡-®6�/¡B ��=�-®6�¢� Ò

�·Ì~Æ��HG

å" =¡!¥/�>¯=§=��½� �£��­¡��-®=�E¢_��§=�!£�©�§6©�£�©­��§�£�¡!¿�¤6©8®�©I9.¢_�/»��+�1¡!§�Ä/Â�¡±´�§6©� =¡!§���«�ÊB¶_§�¢�Ç���� −L0
§6©

ª=¡!¤=¡!¥4©8®6¡/½:£��b¯=¥/��¬(¡!§��=¡F¿!©�§�£�¡-®=�­��¿�¤6©�§��� =¡!§=�u¯=¥/¶>�&«Ã���/��¡-¯=§��=�&�	°>¤=¡�»�£�©��&��½:£B�#¡��:¡��-®=�
h < 0,

£��
¥���´5�1�5¬F§=�Ã£���®=Ä/¢_�Ã¢_��®6¡�»�©�£�¡-®=Ä/§=�/¡u¯=¥/��¬(¡!§��=¡u¿!©�§�£�¡-®=�·�&Õ$©�¢>©�«·�!��£/¶4©�Ç���«µ¥���´�§���¢>©�¡!£�½&§6©�ª�¤��=�1¡!¤�½
¡��-®=�­¥Æ§6©� 6©8®=Ä/§�¦0³Ï�1�/�1¡!§�£Æ¥/¤=¡��1¡!§��µ¿!©�§�£�¡-®=Ä¹§=¡F¿5��¤���´5��§�£�©8®=Ä/§6©>½$¢>©�»���§6©±§6©8°4��¯=��£���«­¥/§=¡F§=¡!¢_��Á
£���¤�¦,°Ã��¢�¤=¡��!£/§=�/�!£�¡!³<£��� =¡!¢

γ = πk
�Ã¥���¡C§6©� 6©8®=Ä/§�¦%¡F�!¢_��¤=�/�!£/�<¤6©�¥/§�¦¸§�¶8®=²2�©�D©�¢Ãª=��¢>©�´�¦0¥4©�¡!£

 ��=�-®6¡!§�§�¦0³<©�§6©8®=��´B¯=¥/��¬(¡!§���«Ã�!�=�!£�¡��&¦D½=ª�¤��±¯6�/�!£�©�£��� �§=��»/��®=Ä/Â(�>°±§6©� 6©8®=Ä/§�¦,°Ã��£/§=�/�!��£�¡-®=Ä/§�¦,°
�!¢_��¤=�/�!£8«_°Æ¢>©�»���§�¦�¥���´�§���¢>©�².£�¥/¤6©�ÅF©�£�¡-®=Ä/§�¦%¡D¯=¥/��¬(¡!§���«Æ¿!©�§�£�¡-®=�·�

JD��K­���LAM74N(���BAM	��%�0���&�(�4O ���0��,Þ�&�(��� �-�
74	���$?�*���
$?�*�
2?�
	(�4���0�4���*&(D0���
2?�P	��%�0���%�%��$����B2��0�4���C&��

ç��-®=�
h ≈ 0

½6£��b¥�¢>©�¢_��³>Á�£��±�1�/�1¡!§�£u¥/¤=¡��1¡!§��Ã¿!©�§�£�¡-®=Ä±��¢>©�¬(¡!£���«	¥�§=¡!¢_��£���¤=��³­��¢�¤=¡��!£/§=�/�!£/�
Ö8¿5��¤���´5��§�£�©8®=Ä/§=��¿5�>×À¤6©�¥/§=��¥�¡��!��«L��Î�¦0¥�¡-¯6¡���¢�¤���£�¡!¤���³�½=ª=��´�¥���®=«>².Å(��³Ã��ª�¤=¡-¯6¡-®=«>£/Ä�§6©�ª�¤6©�¥�®6¡!§��=¡
¯�©8®=Ä/§=¡!³�Â�¡!¿5�%¥/¤6©�Å�¡!§���«D¿!©�§�£�¡-®=�·�8ºB¡1£�¡!¤4«>«D�/»�Å(§=�/�!£/��½5»�¶8¯6¡��Æ�! ���£�©�£/Ä=½5 �£��0¥%§6©� 6©8®=Ä/§�¦0³��1�/�1¡!§�£
¥/¤=¡��1¡!§��

ϕ ≈ −π/2 �>áB�!ª=��®=Ä/´�¶/«À´8©��1¡!§�¶ ϕ = −π/2 +
√
κψ

�À����°>¤6©�§�«>«À¥�¶_¤6©�¥/§=¡!§���«_°�¯=¥/��¬(¡!§���«
£���®=Ä/¢_���-®�©�¿!©�¡��&¦%¡Cª=��¤4«_¯=¢>©b�1¡!§�Ä/Â�¡/½� =¡��

κ
½>ª=��®=¶_ ��=�

ψ′′ − 3ψ +
√
κD(γ, γ′) = 0,

Ñ���Ò
¿�¯6¡

D(γ, γ′) = e sin γ(µ− e cos γ)

(√
1− e2

(
γ′2 + 3 sin2 γ

)

1− e2 cos2 γ
+ 2γ′

)
.

�.¤6©�¥/§=¡!§��=¡(¯=¥/��¬(¡!§���«	¢>©�»���§�¦¨ª�¤��	Ð�£��/�Ì��¢>©�¬(¡!£���«­£�©�¢��=�0½:¢>©�¢<¡��-®=�<»�¦ ¿!©�§�£�¡-®=ÄÆ»�¦,®�©RQTSVU�W�XZY
[ W]\�^]_TS]`�Sb¥�Ö8¿5��¤���´5��§�£�©8®=Ä/§=�/�,×<ª=��®6�5¬(¡!§����·�*à�®6¡-¯6��¥4©�£�¡-®=Ä/§=��½ γ ¢>©�¢ÏÊB¶_§�¢�Ç���«­¥/¤=¡��1¡!§��Ï�1�5¬(¡!£
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ê ��ë���ì��:�:�µë�í8í-î��:��ï·ð8��ì6ñ/�·�:ò	���4��ó¨í8�:�:íuô�ò4�:õuí!ë�í8�4�����:�4ô��Àõuí!ë�ò ~_y_~

»�¦0£/Ä���ª�¤=¡-¯6¡-®6¡!§6©F��´
(
1− e2 cos2 γ

)
γ′2 − 3

(
1− e2

)
sin2 γ = h2 = const

Ñ���Ò
Ñ�������¼ 	U�>½_��Í�¾�ÒR�=ú$¡!Â�¡!§��=¡uÑ���Ò,�1�5¬(¡!£u»�¦0£/Äbª�¤=¡-¯6�!£�©�¥�®6¡!§=��¥b¥/�>¯6¡

ψ(τ) = p(τ) + q(τ),
Ñq�/Ò

¿�¯6¡
q(τ)

Ý ª=¡!¤��=��¯=�� =¡��!¢>©�«	ÊB¶_§�¢�Ç���«±»/¡!´�¤6©�´5�1¡!¤�§=��¿5�b¥/¤=¡��1¡!§��ÏÑ�������¼ ���8¾�Ò-½

p(τ) = 1

2
√

3

(
C+ exp(τ

√
3) + C− exp(−τ

√
3)
)
,

C± =
√
κ
(
z± −A±(γ0, γ

′
0)
)
,

z± = κ−1/2(
√

3ψ0 ± ψ′0) = κ−1(
√

3ϕ0 +
√

3π/2± ϕ′0),
Ñ�ä�Ò

A±(γ0, γ
′
0) =

+∞∫

0

exp(−τ
√

3)D(γ(±τ, γ0, γ
′
0), γ′(±τ, γ0, γ

′
0))dτ,

Ñ���Ò

γ0, γ
′
0, ϕ0, ϕ

′
0, ψ0, ψ

′
0

Ý §6©� 6©8®=Ä/§�¦%¡D´�§6©� =¡!§���«
γ, γ′, ϕ, ϕ′, ψ, ψ′

�
��©��1¡!£/�=�0½6 �£���¡��-®=�

C+ = 0
½=£��b�=�1¡�¡!£u�1¡��!£��u©��!�=�&ª�£���£/�� =¡��!¢_�/¡�¤=¡!Â�¡!§��=¡uÑ���Ò-½6�!£/¤=¡��&«>Å�¡�¡���«

¢	¢_��®6¡�»�©�§���«�����¢_��®6�
ψ = 0

��à�®6¡-¯6��¥4©�£�¡-®=Ä/§=��½�ª=��¥�¡!¤�°>§=�/�!£/Ä
z+ = A+

©�ª�ª�¤=��¢_�!�=�&��¤�¶�¡!£	�&§=�5¬(¡-Á
�!£/¥��±£�©�¢��>°<§6©� 6©8®=Ä/§�¦,°<´�§6©� =¡!§���³·ÊC©�´5��¥/¦,°	ª=¡!¤=¡��1¡!§�§�¦,°­¤6©�������©�£/¤���¥4©�¡��1��³·´8©8¯�©� ���½:¯�®=«	¢_��£���Á
¤�¦,°±¿!©�§�£�¡-®=Ä�¥��F¥���¡B¥/¤=¡��&«À¯=¥/��¬(¡!§���«Ã�/�!£�©�¡!£���«Æ¥���¢�¤=¡��!£/§=�/�!£/�EÖ8¿5��¤���´5��§�£�©8®=Ä/§=��¿5�>×Àª=��®6�5¬(¡!§���«
¤6©�¥/§=��¥�¡��!��«L�4èâ¤��FÐ�£��/�<¡��-®=�F§6©� 6©8®=Ä/§�¦%¡%¶��-®6��¥/��«�£�©�¢_��¥/¦D½� �£��

z+ > A+
½�£��.¿!©�§�£�¡-®=ÄCª=¡!¤=¡!¥�¡!¤�§=¡!£�Á

��«±ª�¤=��£/��¥� 6©�����¥���³Ã�!£/¤=¡-®=¢���½6¡��-®=�Æ¬(¡
z+ < A+

½�£��F¿!©�§�£�¡-®=Ä�ª=¡!¤=¡!¥�¡!¤�§=¡!£���«¹ª=�F 6©�����¥���³Ã�!£/¤=¡-®=¢_¡��
Ñ �B��§=¡! �§=��½8¤6©�¥�¡!§=�!£/¥��

z+ = A+
��ª�¤=¡-¯6¡-®=«�¡!£.¿�¤6©�§���Ç�¶D�1¡!¬�¯=¶B�/»�®�©��!£8«��&��ª�¤6©�¥/¦,°D�B®6¡!¥/¦,°Bª=¡!¤=¡!¥���Á

¤6©� ���¥4©�§���³Æ¿!©�§�£�¡-®=�¹�.§=¡!¢_��£���¤=��³Æª=��¿�¤=¡!Â(§=�/�!£/Ä/²�½>£�©�¢±¢>©�¢À¯�®=«À¡!¿5�(¥/¦0¥���¯�©F»�¦,®=�À�=�!ª=��®=Ä/´5��¥4©�§�¦
Ö8¶_¢_��¤=�� =¡!§�§�¦%¡�×Æ¶_¤6©�¥/§=¡!§���«�Ñ���ÒR��ºB¡!¢_��£���¤=�/¡�ª�¤=¡-¯6�!£�©�¥�®6¡!§��=¡b��¥�¡-®=�� ���§=¡�Ð�£���³	ª=��¿�¤=¡!Â(§=�/�!£/�Ã¯�©8Á
¡!£	¤��=�����>½$§6©¹¢_��£���¤=�/� ª�¤=¡-¯6�!£�©�¥�®6¡!§6©<¢�¤���¥4©�«�½&«>¥�®=«>².ÅF©�«���«Ï��¡! =¡!§��=¡��¨ª=��¥�¡!¤�°>§=�/�!£/�

z+ = A+ª>®6�/�!¢_�/�!£/Ä/²
γ0 = 12π/7

½
ϕ0 = −π/2 �$ºD©ÆÐ�£��/�È¤��=�!¶_§�¢_¡u¢�¤=¡��!£/��¢>©��&���/»/��´�§6©� =¡!§�¦ù§6©�³>¯6¡!§�§�¦%¡

 ��=�-®6¡!§�§=�(£��� �¢��u¿�¤6©�§���Ç�¦Ì�/»�®�©��!£�¡!³uª�¤6©�¥/¦,°��b®6¡!¥/¦,°�ª=¡!¤=¡!¥���¤6©� ���¥4©�§���³·��Î�¦0 ��=�-®6¡!§���«uª�¤=��¥���¯=�>Á
®=�=�!Äbª�¤��

e = 0.5, µ = 0.5, κ = 0.01
� Ò

�·Ì~Æ��4f

lFm*nboFlFm�pFlFq(rtsuoFlFqCvEoFwFqbx�y4z_z_{=x�|�}�~�x6���6x:��}"~��/{���~4�_�



~_yba �b���D�5�,�_���:�:�>���

c ���=�d�(��$'&F�&�(��� ��$$�
�
O�$?���
�Þ�(�4����2'	��*&(�
A+

��©��1¡!£/�=�0½_ �£��C¡��-®=�
h2 6= 0

½�£��CÊB¶_§�¢�Ç���«
f(τ) = D(γ(τ, γ0, γ

′
0), γ′(τ, γ0, γ

′
0))

«>¥�®=«�¡!£���«�ª=¡!¤��>Á
��¯=�� =¡��!¢_��³	ÊB¶_§�¢�Ç��=¡!³¹»/¡!´�¤6©�´5�1¡!¤�§=��¿5�b¥/¤=¡��1¡!§��

τ
�â§=¡!¢_��£���¤�¦%��ª=¡!¤��=��¯6�/�

T
��áâ´D¤6©�¥�¡!§=�!£/¥4©

(n+1)T∫

nT

exp(−
√

3τ)f(τ)dτ = exp(−nT
√

3)

T∫

0

exp(−
√

3τ)f(τ)dτ

�-®6¡-¯=¶�¡!£�½= �£��

A+ = 1

1− exp(T
√

3)

T∫

0

exp(−
√

3τ)f(τ)dτ.
ÑT	5æ�Ò

ç��-®=�
h2 > 0

½��Bª=�/�1��Å(Ä/²¸´8©��1¡!§�¦

dτ = ±V (y)dy, V (y) =

√√√√ 1− e2 cos2 y

h2 + 3(1 − e2) sin2 y

ÑT	�	8Ò

ÑT	5æ�Ò�ª�¤=¡��/»�¤6©�´�¶�¡!£���«¹¢±¥/�>¯=¶

A+ = ± 1

1− exp(
√

3
2π∫
0

V (y)dy)

γ0±2π∫

γ0

exp(±
√

3

γ0∫

y

V (ξ)dξ) · f±(y)dy,
ÑT	U��Ò

¿�¯6¡

f±(y) = e(µ− e cos y) sin y

( √
1− e2

1− e2 cos2 y

(
1

V (y)
+ 3V (y) sin2 y

)
± 2

)
.

ç��-®=�Æ¬(¡
h2 < 0

½�£�©�¬(¡B´8©��1¡!§6©Fª�¤���¥���¯=��£�¢±¤6©�¥�¡!§=�!£/¥/¶

A+ =
exp(−

√
3(T/2 ± t1)

1− exp(−
√

3T )

γ1∫

γ2


f−(y) exp


√3

y∫

γ2

V (ξ)dξ


±

± f+(y) exp


−
√

3

y∫

γ2

V (ξ)dξ




 dy±

γ1∫

γ0

exp


±
√

3

γ0∫

y

V (ξ)dξ


 f±(y)dy,

ÑT	U��Ò

¿�¯6¡

T = 2

γ1∫

γ2

V (y)dy, t1 = 2

γ1∫

γ0

V (y)dy,

γ2 = arccosH + πk, γ1 = π(k + 1)− arccosH, H =

√
1 +

h2

3(1− e2)
,

ª�¤��� =¡��
k = 0

½�¡��-®=�
0 < γ0 < π

½:�
k = 1

½�¡��-®=�
π < γ0 < 2π

��ÎùÑT	U��Ò-½�ÑT	U��Ò"´�§6©�¢ÌÖ
+
×±�-®6¡-¯=¶�¡!£

¥/¦%»���¤6©�£/Ä=½6¡��-®=�
γ′0 > 0

½6©(´�§6©�¢ÏÖ − ×�½=¡��-®=� γ′0 < 0
�
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ê ��ë���ì��:�:�µë�í8í-î��:��ï·ð8��ì6ñ/�·�:ò	���4��ó¨í8�:�:íuô�ò4�:õuí!ë�í8�4�����:�4ô��Àõuí!ë�ò ~_yHe

å"£��1¡!£/�=�0½���¯=§6©�¢_��½� �£��Àª�¤��
h2 < 0

´8©��1¡!§6©­ÑT	�	8Ò"�=�1¡�¡!£¹�/���/»/¡!§�§=�/�!£/Ä¹ª�¤��
y = γ1,2

��èB��Ð�£���Á
�&¶Æ¯�®=«¹ ��=�-®6¡!§�§=��¿5�¹©�§6©8®=��´8©u��§�£�¡!¿�¤6©8®�©

A+
¶8¯6�/»�§=¡�¡(�=�!ª=��®=Ä/´5��¥4©�£/ÄÆ§=¡(�=�1¡!².Å(¶_²ø�/���/»/¡!§�§=�/�!£/�

´8©��1¡!§�¶

dτ = ± W (x)dx√
3
√

1− e2
, W (x) =

√
1− e2H2 cos2 x

1−H2 cos2 x
Ñ;¥bÐ�£��/�E�-®=¶_ 6©�¡

cos y = ±H cos x
½
γ2
ª�¤=¡!¥/¤6©�ÅF©�¡!£���«Æ¥

0
½
γ1
ª�¤=¡!¥/¤6©�ÅF©�¡!£���«Æ¥

π
ÒR�

ç��-®=�
h2 = 0

½>¯�®=«±¥/¦0 ��=�-®6¡!§���«·Ñ���Ò��-®6¡-¯=¶�¡!£u�#¯6¡-®�©�£/Ä�´8©��1¡!§�¶

dτ =

√
1− e2 cos2 y√

3(1 − e2) sin y
dy.

èB��®=¶_ 6©�².Å(��³=��«Æª�¤��ÆÐ�£��/����§�£�¡!¿�¤6©8®Ã»�¶8¯6¡!£����/»/�!£/¥�¡!§�§�¦%���
÷�¶8¯6¡��Ï¤6©�������©�£/¤���¥4©�£/Ä���§�£�¡!¿�¤6©8®

A+
¢>©�¢ÆÊB¶_§�¢�Ç���²�ª=¡!¤=¡��1¡!§�§�¦,°

γ0, γ
′
0

�±ª6©�¤6©��1¡!£/¤=��¥
e
½
µ
�

éÃ�5¬F§=�F¯6��¢>©�´8©�£/Ä=½= �£��FÐ�£�©FÊB¶_§�¢�Ç���«±�/»�®�©8¯�©�¡!£u�-®6¡-¯=¶_².Å(�=�&�¹�!¥���³=�!£/¥4©��&�·�
	��
A+

«>¥�®=«�¡!£���«À®=��§=¡!³�§=��³¹ÊB¶_§�¢�Ç��=¡!³
µ
½>£B�#¡��

A+ = A0 + µAµ
½>ª�¤��� =¡��

A0
¡��!£/Ä

π
Á�ª=¡!¤��=��¯=�>Á

 =¡��!¢>©�«¹ÊB¶_§�¢�Ç���«
γ0
½
Aµ

¡��!£/Ä
2π
Á�ª=¡!¤��=��¯=�� =¡��!¢>©�«<ÊB¶_§�¢�Ç���«

γ0
�

�
��ç��-®=�
γ0 = 0

�>®=�
γ0 = π

�
γ′0 = 0

½*£��
A+ = 0

�*ç��-®=�Ì¬(¡
γ0 = π/2

�
γ′0 = 0

½�£��
A+ = µe

√
3(1− e2)

�
�
�=ç��-®=�

γ′0 = ±
√

3(1 − e2)/e
½�£��

A+ =
(2e±

√
3)
√

1− e2

2
√

4− 3e2

(
2µ
√

4− 3e2 cos(γ0 ∓ arcsin e)− e cos

(
2γ0 ∓ arcsin e√

4− 3e2

))
.

Í¤�>ç��-®=�
γ′0 →∞

½4£��
A+

�!£/¤=¡��&��£���«±¢�®=��§=¡!³�§=��³±ª=�
γ′0
ÊB¶_§�¢�Ç�����½_£B�#¡��

A+ = A1+γ
′
0 +A0+ +

+ o(1/γ′0)
½�¿�¯6¡

A1+ =
√

1− e2

(
µe cos γ0 − 1 +

π
√

1− e2 cos2 γ0

2E(e)

)
,

A0+ = (1− e2)
K(e)

E(e)
+
√

3(1− e2)

(
π
∫ γ0

0

√
1− e2 cos2 xdx

2E(e)
− γ0 + µe sin γ0

)
+

+2µe cos γ0 + e2 sin2 γ0 − e2 + 1
3

,

¿�¯6¡
K(e)

�
E(e)

Ý ª=��®=§�¦%¡bÐ!®�®=��ª�£/�� =¡��!¢��=¡u��§�£�¡!¿�¤6©8®=¦øª=¡!¤�¥���¿5�Æ�­¥/£���¤=��¿5�Æ¤=��¯�©Æ�b�1��¯=¶8®6¡��
e���/��£/¥�¡!£��!£/¥�¡!§�§=�¢�

èâ¤��=�1¡!¤�¦�ª=��¥�¡!¤�°>§=�/�!£�¡!³
z = A+

½>¿�¯6¡
A+

¥/¦0 ��=�-®=«�¡!£���«¹ª=�FÊD��¤=�&¶8®�©���Ð�£���¿5�F¤6©�´!¯6¡-®�©>½=ª�¤��>Á
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e = 1/2, µ = 2/3
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e = 3/4, µ = 1/5
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µ = 0
Ò.�

e < 4
√
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κ = 0.01
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e 6 0.316
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τ = 0
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ϕ(τ) = ϕS(τ) +
√
κψ(τ),
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ϕS(τ) = π/2−2 arctan exp

(
∓τ
√

3
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(p+ 1)2ψ′′ − 3
(
p2 − 6p+ 1

)
ψ − 12

√
κψ2√p(p− 1) = 0,
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p = exp

(
2τ
√
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ª=��¤4«_¯=¢>©��1¡!§=¡�¡/½� =¡��
κ3/2 ½>ª=��®=¶_ ��=�

ϕ(τ) =±
(
π
2
− 2 arctan 1√

p

)
+

√
κψ1(p2 + 4τp

√
3− 1)

4
√

3p(1 + p)
±

±
(
κψ2

1

(
24pτ2(1− p) + 4τ

√
3(p+ 1)(p2 + p+ 1) + 3(p+ 1)2(1− p)

)

96
√
p(1 + p)2

)
,
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ψ1 = ψ′(0)

½�Ö
+
×±���/��£/¥�¡!£��!£/¥/¶�¡!£±¥/¤6©�Å�¡!§���²øª�¤=��£/��¥À 6©�����¥���³­�!£/¤=¡-®=¢���½�©	Ö − ×�ÝÔ¥/¤6©�Å�¡!§���²

ª=�F 6©�����¥���³¹�!£/¤=¡-®=¢_¡��
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τ
�=à�®6¡-¯6��¥4©�£�¡-®=Ä/§=��½=¡��-®=�±¥�§=¡!¢_��£���Á

¤�¦0³��1�/�1¡!§�£â¥/¤=¡��1¡!§�� −τ∗ ¿!©�§�£�¡-®=ÄB´8©�§��=��©8®�©"ª=��®6�5¬(¡!§��=¡/½/���/��£/¥�¡!£��!£/¥/¶_².Å�¡�¡ ϕ = −ϕ0
�
ϕ′ = ϕ′0

½
£��C¥��1�/�1¡!§�£�¥/¤=¡��1¡!§��

τ∗
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¿���¥4©�².Å(��³ÃÇ=¡!§�£/¤Ãª=��®6�5¬(¡!§��=¡/½����/��£/¥�¡!£��!£/¥/¶_².Å�¡�¡
ϕ = ϕ0

�
ϕ′ = ϕ′0
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κ
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κ
½
e4 �±¥/¦0Â�¡/½�ª=��®=¶_ ��=�

v′′ + 3
2
sin(2v) + e2q(v, v′, t) = 0,
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¿�¯6¡
v = ϕ+γ

��Î�¦0¤6©�¬(¡!§��=¡0¯�®=«
q(v, v′, t)

§=¡,ª�¤���¥���¯=��£���«F¥D�!¥/«>´��F�0¡!¿5�.¿�¤=�/�1��´!¯=¢_�/�!£/Ä/²2�4ú$¡!Â�¡!§��=¡
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τ = ±τ0(v, v0)± e2τ1(v, v0),
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τ0(v, v0) =

∫ v

v0

dν√
h3 + 3

2
cos 2ν

, τ1(v, v0) =

∫ v

v0

Q(ν, v0)dν
(
h3 + 3

2
cos 2ν

)3/2
,

Q(v, v0) =

∫ v

v0

q

(
ν,±

√
h3 + 3

2
cos 2ν,±τ0(ν, v0)

)
dν, h3 = v2

01 − 3
2

cos 2v0,
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�
v01
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�
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ϕ = const
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